QuUdoidodooododoooonodg PDFO OO O
Jo0ooooooooooon
https://www.100test.com/kao_ti2020/644/2021 2022 2010 E5 B9
B4 E4 BC 9A c74 644766.htm 20100 00 0000 OO OO
Jododoboooooodobooouooouoooooa
Jodododooododouooodo 10 oo d
D040 0000000000000000000O00a
Jododododododououououo20 oo
007" Jo0dooooooooooo” ooooooa
Jo0oooo@uoooo,oooodoo,ooooao
OJ@QUooo,000oooon0.d

1 (1),C(1,4)*(1,6)/C(2,10)=8/15.00 I (2),C(2,4)/C(2,10)=2/15.00
Jododoboooooodo,)dood,d(2/15)/(8/15
2/15)=1/5200 OAO30 00 0Ob1,b2,b30 000003000
0 0O 0O 0O Abl=bl1 b2, Ab2=-b1 2b2-b3, Ab3=Db2-3b3, I |A| O O
OOJA=80 DD UODA=0000000O00O0O0OO,0O
Oblb2p30 000,00 0000000O00,000000
Jo,0-8sd3d dodododododododouodl
Jodooooodoododoouoooioouooord
J0o0doodooooooooooooooooooo
Jododododododouoly/edd DOooood
Jooooo,0oodrosded,ooodod.d c(r
10)0.577x0.573 ......C(10 10)0.5nN0, 0 O 11/64. 40 O O 0O O O
JodododooK,Uooooooooono O00o0dalg
aa*q=k(kU OO O0O)0000a=k/(/qlg) O OO =an3,00 00
Jodododadbdbo.dab0d,0odbg=1,g=-1. 1



Oog=-10a0 000-k,O0O00O0O00OOa=-kN3.(mbald [
Joodo)soodoodouooodoooouoooun
O00000o0ooo00oooooooooooobilon
O000o0000oco3gsgdoooonca2050cO3
Ods0cu40s50cusgst0noioooonoononoo?20304d5
O000ooooob20000b0 ooooo20000n
OD000ooooobooooz2200000000013/160P
OABOOOOOS16e005130000A00OO00O00O000O0O
OB OOO0OO0O00O00O0AOBOOOOOOOOOOOO
000000 dp=1/2
P(A)=1-(1/2)"5-(C5|1)*(1/2)*(1/2)"N4=13/16 ALl L1 B

I P(AB)=P(B)=(C5|3)*(1/2)"3*(1/2)"2=5/16 I [

[ P(BJA)=P(AB)/P(A)=5/1310 U 0O U 0O 0O O O #0000ff>20100
O0000000000000000 #000ff>20100 O O O
O0000000000000 #0000ff>20100 0 OO OO O
O0000000000 000000000 0O #ffoo00>0
O0000000 #foo0o>0 000000000 100Test O
O00doooooboonoooooooooon
www.100test.com



